P A

FEERA
‘ (B ES* —— BIR = Bt R M iR [ )
i Tt e 2 A W | DI [ S |
ey 02121 Hopy: — %~ - & Il
YLFflydE = =1 G = o H Ry FIFGER ( ;’,‘ﬁ?@’ﬁﬁ G RTTE L Fi 25 LR (LT E) ) PY13.25A [T B i < | ffff

1877 AR AR € L) ATI0.06(@)(@) 75438 » F# TN A
AP _pa

l.
=1L ARG FE— o
EINRL ) _— BT R LA s SN K f@ﬂ@ﬁi
(aﬁg 6BI7J) TpiEt! %Zﬁﬁ&i {7]"—“ J:ﬁt?bff Jq&q y i $TA P E (F157E9)
460 7) D
LaRSIIRE Sl
F2) 800,000,000
R ISt el =
(:t 3)
= 7 el I
;ﬁﬁf lﬁrﬁi? ﬁj‘?[g I 2,191,000 540.27% 270 Hh 250 B 1§15 7.14%
1
s3I Tl
TN I VIR P B A
(j_ )IE AR 802,191,000
S Fe CHEHNH




SR A R

LG

1 7 %“/3/‘/5‘7/ S [ T I o L Je T S R

2. T EYR (IR 2Y 1B25A [T - [ TP PR R (F ) 23 13258 TS [ TR (R KT Ol
e [1H] o

3. T FEEE A LA 23 L3.25A [yt~ A e A - gl 7l 0 IR o A AT P AT R T I E
BT [T LG [ E Y - B [ R L R i e R SRR RS Ty SR o
AT Tl Y S ARy o I R A R R T AL I O o T SR AT
%o

b BFETLTART ¢S EIF TR R ST ¢ FR T AR R R (B O 7 T S s
FIFFF I - Pt~ ZAGIEELL 157 By TR T R [ -

5. Yrrgy = ‘ﬁ“fﬁ’é“/}ff”ﬁ/;?f"ﬁ@ PRI ERR S TS R RS T [ A TR EE f;’/:\ﬂ@ F

6. YL
o TR REEEET R R
I IR B R ST 1T AT T [ O R R I FLTES

T B
o TR BEET G
= YRR ?ﬁ BT IR ) I 1R P RS B R [ R R R SRR LIRS
YRS R R

8.

s v | TR E R % — A A 7‘7#//%/57//%7“/[ I# -



A

A R

epupr TR ZIE LA R
(7 M O) )

T
i Tk

B. VI BRI s s o v

1 A SR (P IR RER R ) R PRI R T PRt !
2. FITRBR R E ) e F 1 pLRE RS TR R = A T 1)
=

((a)x100)
~l 3R A

=5 PI§F§1: B Aiﬁﬂ’:‘[’?ﬂj}{‘%j~ %‘:.%‘?}“’Jz\ Ei”;[’?‘jéli:fﬁlfjﬁéﬁﬁﬁg*j > ﬂ?ﬁf{j%{%h[f&“gj %%ﬁ"iﬁg}';_'& BLEAE 7 ’igfﬁﬁlﬁiﬁﬂjiﬁ EIUE

[l apEr
)

T
Tl

@ Tl
e %

R o TR PR 0 5 (R ) -

]':J: o

I ff/ﬁ%’—“ﬂ"‘%’ ; ﬂ%/j;%fﬂf/;@ﬁz‘ C BT = K BTG BT EAT) TR GRS 2 FrfepE s

Bl TR S5 R L
()

Big: AT )
(B ~ b T - £1)




